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Topic:- Grad_Nutrition and Health

1) Which of the following people are least likely to need a vitamin/mineral
supplement?/ 398 9 = @it # faerfiq/@f e SR o1 smaxgedr g4 &t IwiTaAT
GER R

1. Pregnant or breast-feeding woman/ gt a1 T B @ Tl

2. Vegans/ Y& RMBIERT

3. Male athletes/ g4 TYdilc

4. Dieters on restricted energy intakes/ Hiftra Soif e R Id Q%’, ST H Ig ANl

Correct Answer :-

« Male athletes/ Y3¥ qycile

2) Which of the following should a woman avoid while she is pregnant?/

et it @ THfaRr F SR 3 A fPER 994 TR

1. Smoking cigarettes/ e di

2. Inadequate prenatal medical care/ Kilepiee) 1;Iﬂ'q’—q\'qc fafeaita TayTa
3. Being under 20 years/ 20 9 ¥ HH S

4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3Iudad Tt

3) Who are the beneficiaries of National prophylaxis program for prevention
of blindness due to vitamin A deficiency?/ faeifiq A @t HHt A g arell 3T ot
APUTH & AP AERIY PrAwpd S ArHTl o149 32



1. Pregnant mothers;/ gt AT@M

2. Old age population/ dgoid

3. All children from 6 months to 6 years/6 HIg ¥ 69y d& & Tt 5=
4. Adolescent girls/ foanfeai

Correct Answer :-

« All children from 6 months to 6 years/6 Hlg q 6 ¥ db & gt 5=

4) Disease prevented by immunization is known as:/ ufer el § o= I ot

1. Vaccine Prevented disease/ da&1H fRIfT I

2. Prevention of Non communicable disease/ SGIRUTNS T pT ABUTH
3. Prevention Nutrient deficiency/ UiN& dl ®1 HH! B ABGUH

4. All of the above/G’q?jTﬂ gt

Correct Answer :-

« Vaccine Prevented disease/ IR AR

5) Following are the main causes of PEM amongst children:/ =i § PEM &1
&I HIRUI 1 82

1. Delayed complimentary feeding/ [R& 38R ¢ H fadd
2. Infection and Infestation/ ThHUI TF I

3. Primarily Energy deficiency/ UIIfAwd: Sl BI HH

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ ITad i

6) Which vaccine is given according National Immunization Schedule after 6
weeks of Birth?/ I ufeRafiexu Srfwa & SR o & 6 HwWIs d1g PI-91
AR AT ST 82

1. DPT
2. OPV

3. BCG if not given at birth/ BCG, af¢ S o THd A f&ar T gf
4. All of the above/B'q?jHH gt



Correct Answer :-

« All of the above/@ﬁaﬁ ekt

7) The energy requirements of a lactating woman is based on energy needed

to:/;ﬁﬁﬂﬂ?ﬁmﬁmﬁw ¥ U sazas et W nurfyd
gt 2

1. Maintain weight and body composition/ YR Td TRR HT o HIIH @
2. A level of physical activity/ RIS Tfafafedl & e TR

3. Breastmilk production/ &= gY & JdTaA

4. All of the above/3udad I+

Correct Answer :-

« All of the above/GCPjTﬂ ekt

8) What are the common diseases caused by Viruses?/ fauTusif & g9 arat 3mq
T FT §2

1. Hypertension/ 3= Ya&ddIq
2. Diabetes/ GYAE
3. Obesity/ e

4. Hepatitis/ gUcrsicy
Correct Answer :-

« Hepatitis/ %ﬁ?l’aﬁﬂ

9) AIDS is contagious disease:/ TSd WWW %I
1. True/ ol

2. False/ Tdd
3. May be/ RM0q
4. None of the above/ SR T I Eﬁ'scﬂfr

Correct Answer :-

e True/ To!

10) Personal protective equipment important for health care worker to be

worn while in tuberculosis ward include:/ Ei@'@ﬁﬁﬁm 8 § WA Srdwar ot



il SfeRIITd Y& SUSRUT U 11T I7H XA o:
1. N 95 respirator/ N 95 ¥¥18¥e

2. Surgical mask/ gfiferd AR

3. Both of the above/ RERCSRAR]]

4. Kitchen apron/ Q@ﬁﬁ T

Correct Answer :-

. Both of the above/ SWRIad gl

11) A pharmacological dose (mega dose) of a vitamin is defined as an intake

of more than:/ fdeIfiqA & wHiEaTNEd GRS (AN D) &I ¥ 3iftrs &
=Tdeu & U H ufyHTiya fsar man &

1. Two times of RDA/ RDA & GI[H
2. Five times of RDA/ RDA & Uid T+
3. Ten times of RDA/ RDA & & TH

4. One hundred times the RDA/RDA & I TH

Correct Answer :-

. Ten times of RDA/ RDA & &d TH

12) As per ICDS scheme the calories provided through nutritional
supplement scheme to children till 6 years of age:/ ICDS dI&Hl & IR, 6 T4
I & T D W WO AT & q1eqd A & 914 areft Feaifval $t ue &:

1. 300 kcal/ 300 foHaoraR!
2. 700 kcal/ 700 fraidmant
3. 100 kcal/ 100 fraimart
4. 250 kcal/ 250 foraibar!

Correct Answer :-

« 300 kcal/ 300 fraibaRt

13) Deficiency symptoms such as respiratory infection, gastrointestinal
disturbances and blindness are related to the role of vitamin A in:/ Td9d dd
& AHHT, TSI TSa ST 3N ST I GAT F T&I0T # faerfir A &t

1. Promoting growth/ "q'@ B deldl oA



2. Maintaining healthy tissues/ W& &dd d-IUY REGE
3. Acting as antioxdicants/ TU3RfiSe & ¥0 H &1 B

4. Blood clotting/ ad &1 Ydeh! STHA

Correct Answer :-

« Maintaining healthy tissues/ ¥d¥ Hddh CRIMESCE

14) An example of complete proteins is:/'\ﬂi'q;Uf M PT Th ISIE0T T
1. Egg protein/ 303 HT UIeH

2. Wheat protein/ ﬂ'g’ CaRC iG]

3. Maize protein/ Ha®I &1 Ui

4. All of the above/Sudad Tuft

Correct Answer :-

« Egg protein/ 30 HT Ul
15) In acute diarrhea:/ &0 3% H:

1. There is bacterial and parasite infection through contaminated food and water/

T5fd HIoH Ud 51d & J1eH ¥ Siargsif 8fR UReifadl &1 shHv g1 ofrdl 8
2. There is PEM and deficiency of B complex/ PEM gIdT 8§ 3R B By o1 HH! glal ©
3. Celiac disease/ Hiferae T
4. Lactose intolerance/cacel ST

Correct Answer :-

« There is bacterial and parasite infection through contaminated food and water/

T5vd HIoH Ud 51d & J1H ¥ Siargsif $fR UReifadl &1 GshHvl g1 ol §

16) The recommended dietary allowance for iron for a pregnant woman as

per ICMR 2010 is:/ ICMR 2010 & 3R THad! Tl 37 SmMRA &t SRR et
3gHfa 8:

1. 35 mg / day/35 f&rr/faA
2. 25 mq / day/25 fimn/feq
3.45 mg / day/45 fimn/feq
4.20 mg / day/20 fiEn/feq

Correct Answer :-



« 35 mg / day/35 ffn/feA

17) Which statement stands correct with regards to following a vegetarian
diet and breast feeding?/ MBTER T UTa B 3R TUTH HA & TG« § 390 I
DIF-TT HYT L 82

1. A vegetarian diet that contains dairy or eggs is usually complete/ g¥4/q™ 3drel 3R
3UE | Yod WMHTER MHAR TR quf giell 8

2. Vitamin B12 supplements maybe needed/ faerfim B12 lﬂgor?l' CARSICESE ] Us gl §

3. Include foods that are rich in protein, iron and calcium/ 0 ¢, 3MRA 3R HfqH ot
YRR AT aTel are gard JMHd &y

4. All of the above/ Iudad waft

Correct Answer :-

« All of the above/ B“q?i?ﬂ gt

18) Complete the following - ICMR:/ ICMR &1 [RT ATH ¥dT¢|
1. Indian child monitoring rate/ &g AT3ee AN ¢ (HRAT §1d FAIRHT €X)

2. Indian council of medical research/ 3f$a7 HI(RTT i Afswa Rad (lﬂQ?ﬁH fafean
SR URYS)

3. International child mortality rate/ SCXARMA AT3es AICIAC! X (IMRITH a1 7Y &)
4. None of the Above/duy:dd e cr;lsr T8l

Correct Answer :-

e Indian council of medical research/ SfeT I3 3 nfswrd g (lﬂ?_cﬁ?lﬁlﬁv_(\m
ST URug)

19) Which of the following is a communicable disease?/ 3H 9 P TH
RS I 32

1. Rickets/ Rdcq

2. Scurvy/ @ df

3. Marasmus/ BRIAY
4. Cholera/gsT

Correct Answer :-

. ChoIera/%TrlT



20) B-complex vitamins and ascorbic acid can be broadly classified as:/ B-

PR faerfiEl ok wifde s o 3t goft & var o 9@t &
1. Insoluble vitamins/ &rﬂﬁﬂﬁﬂﬂﬁﬂm

2. Fat soluble vitamins/ 39T & ga-=iia faerf®=

3. Water soluble vitamins/ Sidl § o=l faerfiA

4. None of the above/ SURI& H ¥ B3 ol

Correct Answer :-

« Water soluble vitamins/ Gﬂﬁgﬂﬂ?ﬂﬁﬁ?@:{

21) The most common manifestation of carbohydrate malabsorption is:/

PIaIEISSC U BT HEH 3TH YPHe @
1. Malaria/ﬂﬁﬁqT

2. Typhoid/ TOHIZS
3. Lactose intolerance/ dderel 3AgIdl

4, Fever/dUR
Correct Answer :-

. Lactose intolerance/ daaIel SR

22) Vitamin K deficiency is possible result of:/ fdeifiqa K & &l 379 3 foaw 8
&l &

1. Kidney disease/ 115 & AT

2. Antibiotic therapy/ TUélamiIfees b

3. Presence of Phytates/ ®icc &t Iuffd

4. Insufficient intake of citrus fruits/ﬁ@ﬂ (:ﬂ'q, a1, Ja i) Tdl &1 T aq

Correct Answer :-

« Antibiotic therapy/ Toctamaiesd fafder

23) Hormones responsible for positive pregnancy test:/ HRTHD THTaRIT

terur & foe Iarerft gralq &

1. Estrogen/ &I

2. Progesterone/ ToReR(—

3. Follicle stimulating hormone/ W@WW



4. Human chorionic gonadtropin/ gdH HIR3AD Jilﬁélg"lﬁﬁq

Correct Answer :-

« Human chorionic gonadtropin/ ga4H CAIRETIIECY JiIEIS:IEAVIEEH

24) Dietary factors which increase iron absorption are:/ G| &nﬁlﬂ'q PRSP S
TR SGRNYUT F&T 3 B

1. Ascorbic acid/ ThIaP 3
2. Animal proteins/ Ug] WIcH

3. Optimum gastric acidity/ 3THIRR &1 3JHedH 3l
4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

25) Gestational weight gain is influenced by:/THGRITHTA HR gfs I
yyTfaa gidl @:

1. Food intake/ HIoH & g9

2. Level of exercise and energy balance/ M & ¥R 3R Sl NESE
3. Medical condition/ fafeig (@"T)@-ﬂ%{

4. All of the above/ I0dad i

Correct Answer :-

« All of the above/ I0dad i

26) What are types of malnutrition?/ 39H d ?tﬂ'lTUT P UPR P 82
1. Over nutrition/ T g 3ifees Ty

2. Under nutrition/ M-I ¥ &H UIN0[

3. Both of the above/ JWRiad G

4. None of the above/ IWRIgd H A Ebﬁ's‘ gl

Correct Answer :-

« Both of the above/ RERCSRAR]]



Inclusion of at least 50 grams of GLV improves intake of? /HH-Y-$HH 50 ATH
GLV A A | BT A~TIEYT dgaR & 9Tl &

1. Vitamin A/ faeTf®= A

2. Iron/ 34

3. Calcium/ SfcRrd

4. All of the above/3Iudad I+t

Correct Answer :-

« All of the above/3Iudad I+

28) What are the important aspects of Personal Hygeine?/ Jf&iTd W3dl &

Hgaqul Ugq 1 82
1. Washing hand before eating food/ HISH H I U8 g1y o

2. Bathing daily/ JSTHT &M &A1
3. Wearing clean and washed clothes/ dT%h g ?ﬁr@z?ﬂa Yg-l
4. All of the above/ B“q?i?ﬂ gt

Correct Answer :-

« All of the above/ B“q?i?ﬁ gt

29) Immunization is one of the important strategies to combat:/ Ufazefi®zor

$ B TP Hedyul IV B

1. Malnutrition/ $UINUT &1 hTael B
2. Children are protected from diseases/ 7 d Sl 1 YR&M
3. Both of the above/ IWRId Gl

4. None of the Above/ Gq?jilﬂ 73 o8 el
Correct Answer :-

« Both of the above/ RERCSRAR]]

30) Certain environmental conditions can harm the healthy development of a
baby during pregnancy, have most detrimental effects during of

pregnancy./ $© wafazuita fRufeat mufawr & v Ry & @ fawra #t afy ugan
TPdl 8, ITPT HAlTUe BIfTPRS UHTT THTaRIT & fopg TR § gidT &

1. Foetal stage/ THG 3/a=iy1

2. First 3 weeks following conception/ YR & §1¢ & U 3 W



3. Embryonic stage/ YUITAR]
4. None of the above/IWRiad # ¥ &I gl

Correct Answer :-

« Embryonic stage/ YUMdRIT

31) One of the most important advantage of immunization to children is:/

T ¥ yRREATRO T T Tad HE@yu a:
1. Death from dreaded disease/ WdIdldh T g P AHUH
2. Prevents diabetes/ GYAE &1 AH UM

3. Prevents common cold/ 38 Jal-J&hH B AHUH
4. None of the above/B‘qﬂTﬁ 73 aﬂ'sc ol

Correct Answer :-
« Death from dreaded disease/ @aAI® I I Tg ot AHUH
32) After getting a vaccination:/ 3&fiF &R & dTa:

1. The body never lets the same virus into it/ TR I ﬁEITq &1 Wd § H-1f QaRT vaw
T B AT

2. The body always becomes ill for a short time/ TR THIM Ui T IHY & o SR &1
ST §

3. The body gets used to a weaker form of a virus/ YRR fdNTY & @&m HHAR &Y &1
W B I ©

4. None of the above/sq'ﬁf I ﬁ's‘ =rzﬁ

Correct Answer :-

« The body gets used to a weaker form of a virus/ TR ﬁﬁqu & B{ﬁ&ﬂﬁ FUGIR &Y BT
3R g1 1T §

33) Which of these are single vaccines except?/ 394 I f&d Sisar o= It
Rivra dwi= &2

1. Hepatitis B/ fgUcrsfcy B
2. Chicken pox/ EECT (ﬁlﬁ 1?r\IIT:IH)

3. Influenza/ TURIUSIT
4. MMR

Correct Answer :-



34) Which of the following is National Deficiency control program?/ Eﬁ I

i, I =gean e sriwa 32

1. National Anemia control program/ H@HWW HIHH
2. Special Nutrition Program/ faQy oiwur HrfwmH

3. National food for work program/ TS1g ®TH-%-Sad- 36 HTHH
4. Composite Nutrition Program/ Ty O9ur HrdsmH

Correct Answer :-
« National Anemia control program/ Q‘F@HWW HRIHH

35) An important nutritional problem affecting all segments of the population
in general and children, women and pregnant women in particular is:/ qryor

TR TP AUl TH™T St ATHTd: S9ae & 94 a &t ok faRiv &u & 7=,
afganai 3R mifadt afgansi # wwrfaa w< 8:

1. Anaemia/ YadTeddl

2. Goitre/ ©dT (UTE’E“{)

3. Diabetes/ Ir%[ﬁ's’

4. HyperIipidemia/BWq?ﬁ*rfﬁm
Correct Answer :-

« Anaemia/ Yddleddl

36) As per ICMR 2010 what are the dietary recommendations for beta-
carotene for an expectant mother?/ ICMR 2010 & IR, THadt Wi & fow dter-

PN P ety srgAfy fopaht g2

1. 6400 micrograms / day/6400 ASH o/ faq
2. 8000 micrograms / day/8000 AT RIH/ e
3. 5200 micrograms / day/ 5200 s o/ feA
4. 4800 micrograms / day/4800 ATSH I/

Correct Answer :-

« 6400 micrograms / day/6400 HZH UM/



Third trimester is main time for storage of:/ T foaTdt & YUSRUT BT
q=T 99y B

1. Iron, fat and calcium/ 3R, T9T 3R HfRTH

2. Iron, calcium and folate/ 3R, HIRH 3R Bide

3. Vitamin D, vitamin K and fat/ faeif&= D, faerfiq K 3R 9T
4. Fat, calcium and folate/ 99T, HfeqgH 3R Hide

Correct Answer :-

. Iron, fat and calcium/ 3R, IIT 3R HicaaH

38) What are the measures taken by government of India's policy for
prevention of Vitamin A deficiency?/ faerfiqa A ot o 9 APy & fore yRa
WHR $I Hifa & Fa1 Iurg fpe e 72

1. Promoting consumption of vitamin A rich food/ faeff A S JH& U & Tad &l deldl

5l
2. Administering supplemental dose of vitamin A/ faerfim A &t PREZRCNET o

3. Treatment of vitamin A deficient children/ faeIfie A &1 FH a1 I=T BT IUAR BT
4. All of the above/T:FCPjaﬁ ekt

Correct Answer :-

« All of the above/G’q?jTﬂ gt

39) In Measles vaccine immunity develops after:/ TIR &1 aqH A &
aTe uferer faefa adt 21

1. 11 to 12 days after vaccination/ ABTH & 11 9 12 fea e

2. After 1 month of vaccination/ I&HTHRUI & 1 HTE 1
3. After 15 days of vaccination/ SlaT®RUl & 15 feAa1g
4. None of the above/ B’CPQIHH pei: aﬂs‘qﬁ

Correct Answer :-

« 11 to 12 days after vaccination/ ABTH & 11 9 12 fea e

40) What are Non communicable diseases?/ SRR T T sﬁ %'?

[N

1. Do not spread from an infected person to another/ S U Ghiid dfad I g\{-l\ﬁ Aldd
&I T8 e

2. Pathogens are not involved/ SEERESEED (aﬂ\luﬁ) e el gl




3. These diseases may be caused due to dietary deficiency, hormonal imbalance,
genetic problems/ d IT ST MR GAATSHT, BTHIA SRI~eH, TIARIS GRS & HRUT &I
IHd §

4. All of the above/GCPjTﬂ ekt

Correct Answer :-

« All of the above/Gq?jTﬂ ekt

41) Flourosis manifests mainly as:/ TR HQd: __ »®UHUPCc gl 8
1. Dental fluorosis/ & (Scd) FARIRE

2. Skeletal fluorosis/ HHTAT (Thaied) FARIRTT

3. Both of the above/ SWRIad GHI

4. Cardiac fluorosis/ gad (?ﬂ%ﬂﬁ) TR

Correct Answer :-

. Both of the above/ SWRIad Gl

42) Fatty acids essential for prevention of coronary heart disease:/ &4 Y01

I P AHUM & T STawasd T41 3 5

1. Linoleic acid and linolenic acid/ forfere st 3R foFaR® st
2. Triglycerides/ CI3[eRRISSH

3. Trans-fatty acids/ Ci-a9T 3%

4. All of the above/ Iudad Tt

Correct Answer :-

« Linoleic acid and linolenic acid/ forfere st ok foFaR® s

43) Activities, undertaken at the Government or local organisation level to
maintain health of the people (for controlling diseases) are known as:/ (ﬁ'lﬁ

P Fra=aur F31 & f0) d & WTRY & IRV 7d IRPRI a1 R 61 & WX W)
Ft 94 arelt nfafafiay F5d ©:

1. Community health/ JTHaT—% WA

2. Occupational health/ I ARG

3. Institutional health/ IRINTd WG
4. None of the above/m?ﬂ o3 Hﬂé :Te°f

Correct Answer :-



« Community health/ SaIR% WA

44) National Rural health mission was started in:/ ?T@'q reior 9=y freE
H R faT T UI-

1. May 2004/ T% 2004
2. June 2006/ S 2006
3. April 2005/ 30 2005

4, January 2007/G|:|T:|ﬂ 2007

Correct Answer :-

. April 2005/ 3d 2005

45) Heating or drying of fresh fruits or vegetables usually leads to
destruction of most or all of which vitamin originally present?/ dTGil wdl a1

gfowral & 7 F a1 GEM | AR W 390 A HiF-971 faerfiE, ot e § sufRua o,
Sf¥rmiwra: a1 gt ave Y 8 94T 82

1. Vitamin A/ faeifia A
2. Vitamin ¢/ fdeif#q ¢
3. Vitamin D/ faerf®= D
4. Vitamin E/ﬁaﬁl:l E

Correct Answer :-

. Vitamin C/ fae1fiq C

46) Which is a limiting amino acid in pulse?/ ardi # HHTHRI A 3R PI-T1
g1 32

1. Methionine/ AR

2. Lysine/ NIRIEE]

3. Tryptophan/ ﬁ;@ﬁ?{

4. Phenylalanine/ PIEGISIIEE]

Correct Answer :-

o Methionine/ A=

47) During the first six months of lactation the ICMR has recommended

additional intake of:/ ICMR 3 WU &M & ARHP T: A & R &




Sifafyad Aa= it srgxiar & &:
1. 600 kcal/600 foaioant
2. 700 kcal/700 foaidmant
3. 650 kcal/650 faraidmant
4. 800 kcal/800 faraidment

Correct Answer :-

« 600 kcal/600 fHeiparRt

48) A natural biological process involving cellular and physiological
deterioration, increased vulnerability to disease and decreased ability to

adapt is known as-/ 98 WIefa® wfas uferar Rad SR vd ¥R frarars g™
BT 8, I & Ul SRRféaar 9¢ 9Tl 8 8k 3@ ad &1 Iydr Ue Srd! &-

1. Ageing/ SIRUT (3{1Y §gT)
2. Growing/ ?{@

3. Multiplying/ dguH

4, Maturing/tlﬁ'qW

Correct Answer :-
« Ageing/ SRUT (3T de-T)

49) Adults require energy and proteins for: /IUTPH| Bl ¥ fow St wa
W B STaxgHar gidt 3:

1. Maintenance and continuation of optimal metabolic and physical activities/ 3ugad
T U9 RIS TAfafRrl & I@RWd Td 37 SR} 38

2. Maintenance of biological functions and repair of tissues/ Sfa® HTaf & Ra@1g adl
N EARC RN

3. Both of the above/ SWRIad &l
4. Growth spurt/dfg ¥ dia-da T 34 dTd I8Td

Correct Answer :-

e Both of the above/ RUCIESRAG]

50) One approach of preventing Vitamin A deficiency in children is educating
the mothers to feed their children daily with:/ Il ® faerfiq A &) o &6t
ABUTH HIA Pt TP UG § STt ATATS B 30 T=l Bl e & forw
fféra w1



1. Wheat/ ﬁ'é"
2. Rice/ d1dd

3. Green leafy vegetables and yellow and fresh fruits/ g<1 TR gfesrt 3R did @ arer
Bd

4. Maize/HddI

Correct Answer :-

. Green leafy vegetables and yellow and fresh fruits/ & TaeR Ifesrat 3Rt g dren

51) They are also used for the formation of body structure and skeleton:/ 3%

IRR P W1 T Sovra & Fator & fog +ff v fasar sman 3:
1. Minerals/ @f-st

2. Vitamins/ﬁET&Fr

3. Fats/ddTq

4. Carbohydrates/ FIEIgRISE

Correct Answer :-

o Minerals/ LGB

52) Caesarean section is performed when?/ SIS = a9 fHar wraT 8§ w92

1. Labour is extremely difficult/ Td A& Hio gl

2. Mother's blood pressure falls rapidly/ ATl T Yaddg ol ¥ R @I 81

3. Foetus is too large for the mother's pelvic opening/ ATl & %ﬁﬁlﬁ@’ﬁ ik TIWQT‘{[
&1 DHR dgd dST Bl

4. All of the above/Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

53) The science of food and it’s components, their actions, interactions and
balance within the body, it’'s utilisation for health and wellbeing is called?/

Yo 3R IS ged!, IRR & 3rex A1 foparadt, srafharsit aur =g+, @Ry Td
FIEAY F T I7% IwE F fag e o)

1. Nutrition/ GTSor
2. Absorption/ ST



3. Digestion/ U4
4. Utilisation/SqaiiRul

Correct Answer :-

« Nutrition/ TS0

54) Which one of the followings is a water borne disease?/ 34 q CaC Th ofcd

arfed 3N 82
1. Tuberculosis/ SR AT
2. Malaria/ﬂﬁﬁiﬂ

3. Cholera/ %GT
4. Chicken pox/ IS

Correct Answer :-

« Cholera/ %TrIT

55) What all is true about milk, except:/ g & I § FIT 91d TL! 32
1. It is low in iron but rich in calcium/ S8 TR Bt HH TR Hieqad &1 31fid AT gl §
2. The main protein is casein and lactoalbumin/ 3 H@Itﬁfﬁ HH ﬁ?ﬁﬁwﬁ?%

3. The main carbohydrate is lactose/ IHT T HIEGASE AFI &
4. It is rich in vitamin C/ 398 faeTfiA C &1 R A1 8t 8

Correct Answer :-

. Itis rich in vitamin C/ 39¥ fde1®F C &t YRR AT gt §

Topic:- Grad_General Knowledge and Logical Ability

1) The most abundant carbohydrate present in blood is:/ ATa TR # gaifes si9 a1

PIEIEISgC SURIT BT &
1. Glucose / TP

2. Lactose/ QeI

3. Starch/ W

4. Cellulose/ IGA™
Correct Answer :-

e Glucose / W



2) The scheme MGNREGA comes under the - / T7GT FioT A9 & & freer siaeta amar
g7

1. Ministry of Panchayati Raj / 9Tl 5 H3TAX
2. Ministry of Rural Development / ITHToT farehTe ®a1 T
3. Ministry of Social Justice and Empowerment / ATHTIST =131 i< SrferrTar §ama

4. Ministry of Finance / fa=t @

Correct Answer :-

« Ministry of Rural Development / aTsfior farermer w=merr

3) How many squares are there in the given figure?/ 3t 75 3nefa # feaq @t 82

1.7
2.12
3.10

4. 8

Correct Answer :-

4) A sum of Rs.7, 000 is divided among X, Y, Z in such a manner that the
shares of X and Y are in the ratio of 2:3 respectively and those of Y and Z are
in the ratio of 4:5 respectively. Share of Y (in Rs.) is:/ 0 7,000 Ca| X, Y Mz
FUAITIPR AUTNT F T fF X R Y F el ST Sgura Ho=: 2:3 AUMY R Z &
i s equa pa: ;581 Y PR 3. M &

1. 2400
2. 3000
3. 1600

4. 2000

Correct Answer :-

« 2400



5) In which year was the Swachhta Udyami Yojana launched? / T&=gar 3=t
JISTAT T ATTFA HIAH a9 & gar?

1. 2012
2.2013
3.2014

4, 2015

Correct Answer :-

« 2012

6) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / =T @41 & wfgar @ sitarfaaw, 2005 avaweft
e ® o Fiwar e 981 781 87

1. Both mental and physical harm is included in this Act / =& srfaf=aw & gmfas vd
AITETa ST T AT

2. It extends to whole of India except Jammu & Kashmir / 7g sfafaae s+ T FewiT
BIESHL T AT | A6 &

3. Both of these / 3IU<I=k 211
4. None of these / 9% & FIE 7l

Correct Answer :-

« None of these / =78 & #IE Tl

7) What is the newsletter of the National Commission for Women called?/

LT AIZAT AT F HATE T T ATH F4T g2
1. Mahila Rashtra / wfg«r 79
2. Mahila Shakti / wfgaT orf<h
3. Rashtra Mahila / Trg wfg=r
4. Rashtra Mahila Shakti / T1g wifgar erf<r

Correct Answer :-

« Rashtra Mahila / Trg wig=T

8) Which of the following is the default page setup orientation of slide in

PowerPoint/ 19 ¥ & &I IT TR & # Wrss & feWiee Yy Aesry vz 3:
1. Vertical/aRfewd
2. Portrait/tﬁg'cr



3. Both of the above/ RLRESEAGI]
4. Landscape/ﬁ%@?q

Correct Answer :-

. Landscape/a?)ﬁv'q

9) How many members should a Child Welfare Committee have? / a1 <107

gfafa # fraq aeea S =71fRw?
1.3
2.4
3.5

4.6

Correct Answer :-

10) Progesterone is secreted by-/ uﬁ'\‘g‘h wrfad Eﬂ?ﬂ %—
1. Pituitary gland/ ﬁ?{q PRI

2. Corpus luteum/ HUq F\‘I@'!Tq |

3. Testis/ 3SHIT I

4. Thymus/ 4IgHYI |

Correct Answer :-

« Corpus luteum/ HIaq ?"Iﬁtﬂq |

11) Which of the following schemes emphasizes more on children in need of
care and protection, juveniles in conflict or contact with the law and other

vulnerable children? / %1 & & F9& JroT % ATATAT H&T T U< wfew aheafaa & @+ a
TG U G AT ATLIHRAT ATl AT fafer fEarfeq g dhereq ag 52

1. Rashtriya Bal Swasthya Karyakram / T8 1T TaTe2T 100

2. Integrated Child Development Services / a0 fead aTer farsTe T
3. Integrated Child Protection Scheme / T8TEa aTer HLETT FISTAT

4. None of these / =#% & &I A&l

Correct Answer :-

« Integrated Child Protection Scheme / @8 THd aTel HTEAT FroTAT



12) In which year was the Janani Shishu Suraksha Karyakram launched?/
ST fRrSr AT FTHFT FIAE T E AT T2

1. 2011
2.2012
3.2013

4, 2014

Correct Answer :-
« 2011

13) 1-
What would be the compound interest (in Rs.) of Rs.24,000 for :years
1

'l Z
at 10% per annum compounded half yearly? /U4 24,000 $T 274 & o4 10%
gfaad TS 3t G W TS VAT B R Tehgi TSI (FUd T) T g2

1. 3,783
2. 3,680
3.4,150

4.3,240

Correct Answer :-

14) The human body contains the maximum amount of: / HT-d YRIX H AT 41 & SIAR
watfie w1 gia1 3

1. Proteins/ Eﬁ‘c"l:r
2. Water/ oIdd
3. Fats/ 94T

4. Plasma/ WITGHI

Correct Answer :-

e Water/ Sl

15) With respect to the Child Marriage Act, 2006, find the incorrect sentence
out of the following options. / ate faaTg srferf =, 2006 F Tw=tfaa A e § & Toq
IEEIR IR PRy

1. This law is also applicable to citizens of India beyond India / 7 st aw w=a % 187
AT AR 9T Y A1) &



2. This law is applicable to whole of India / Tg sfef=a" ¥ 9= § A1 &
3. Both of the above / 39 Tl

4. None of these / =A% & #Ts 7!

Correct Answer :-

« This law is applicable to whole of India / 78 Sfa=® X 9% § @1 &
16) What is the work of Home key? /BI¥ & ST &1 &1 gidT g?

1. The letter on the right gets erased/<T8 3R aTal 3feR fie ST §

2. Cursors reach the end of the line/®wR %4 & 3fd & EREERSIGI g

3. A new line is formed/U& 0 g &4 ST %

4. Cursors reach the starting of the line /&R T34 & Y& & Ugd oIl &

Correct Answer :-
. Cursors reach the starting of the line /&R @2 & L& H Ugd ST §

17) DIRECTIONS: Find out missing number from the figures given below./

i 19 & et ampfirat & g s A AR
13/1_3 :3/:4 :'}\(;
25 51 64
1. 35
2.36
3.37

4. 38

Correct Answer :-

18) In how many categories do the Hindu Succession Act, 1956 classify
blood-relation between ancestors and children? / f&=g STufasr afafaw, 1956
QIS Sl TG o S Th-aa el Bl fha AT | Ao(Ta AT 872

1.2
2.3
3.4

4.5



Correct Answer :-

3

19) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’?/ @<t afafy (Tam) srfefaaw, 1987 ¥ siasta
3 & & S wigATsH & Tt F Foft § T@r ST Fhar 82

1. A woman being burnt alive along with the body of her deceased relative voluntarily

| T AigAT It ST Gk qeaedl & g & QT I TA=a1 as ST o471 ST 78T &

2. A woman being burnt alive along with the body of her deceased relative forcibly /
U AigT [Seh! 9 Jda Tl & ag & a1 STaaed ! STl QAT AT @1 g

3. A widow being burnt alive along with the body of her deceased husband forcibly /tu=
afedT AT Sa= g It o 3 % A1 Taawd ST {237 A7 @ 8

4. All of the above / 3T T+t

Correct Answer :-

« All of the above / 373k a+T

20) DIRECTIONS: Complete the series by choosing right figure from the given
choices./ fr: feu e fawel & ¥ O faweu &1 999 T+ Aol & 1 91

D|BD) -

(a) (b) (¢ (d)

®
LS
v

B

4.

Correct Answer :-




21) Cervix is situated between-/¥idT (Cervix) fRId gidr 8-
1. Oviduct and uterus/ 3(USATR-T aul THIRE & AL

2. Vagina and uterus/ It 9UT THIRE & Hem

3. Vagina and clitoris/ATt TUT TR & &g

4. Clitoris and labia/HTIR TYUT el &b HLA

Correct Answer :-

e Vagina and uterus/ It aur iR & A

22) Pointing to a girl, Mohan said, “She is the daughter of my grandfather’s
only daughter-in-law”. How is Mohan related to that girl?/@ﬁsﬂﬁﬁ 3R
SR Hd ¢ HIE A Fel “ag AR areroil @1 THuTa Tray @1 Gt 21 e 39 asot | fpa
THR THEiud g2

1. Brother/HT§

2. Uncle/dTdT

3. Cousin/® o

4. None of these/3TH ¥ &5 ol

Correct Answer :-

. Brother/ﬂ-IT'sc

23) What is the minimum amount that can be submitted in a single year in a
Sukanya Samriddhi account? / TF a9 # &1 99 (g @1 § Hoaw <t Tfer &1 ST
TRt ST |haT g2

1. Rs.500 / 500 =9
2. Rs.1000/ 1000 =7
3. Rs.1500/ 1500 =7

4. Rs.2000 / 2000 =7

Correct Answer :-

+ Rs.1000/1000 =7

24) According to the National Food Security Act, 2013, which of the following
options are not true? / TE @Ter T Afat=aw, 2013 geaweft e et § & waar agr

Tal 57
1. It extends to whole of India / 8 W ART H AN &



2. There are 7 members in the State Food Commission / 3% @1 A0d # 5 9a&T gl &
3. Both of the above / 3T Ml
4. None of these / 9% & FE gl

Correct Answer :-

« None of these / 98 & FIS Tl

25) The speeds of bus, bike and train are in the ratio of 1: 3: 5 respectively.
If all of them covers equal distance then the ratio of time taken by bus, bike
and train are respectively:/ ¥, ST3® 3R 3= & Tfd &7 3JuUTd HHM: 1: 3: 5 71 A
Tt g g 79 e €91 79, I15@ SR 7 gRT Y T 9Hg F1 U HU: §:

1.6:7:8
2.15:5:3
3.12:7:9
4.1:3:5
Correct Answer :-
« 15:5:3

26) Which of the following is the example of B2C e-commerce? /A% # | &I &1 o} 2 W $-wraef
BT ICETT 82

1. Amazon.com and Lastminute.com / AN, PTH 3R AR, B1H
2. E-bay.com and FIipkart.com/ngc 9517 3R TAysTE Sic HiF

3. Lastminute.com and E-bay.com/ AReie. ®d @Té—a.ﬁﬂ

4. All of the above / Iudad It

Correct Answer :-

« Amazon.com and Lastminute.com / A, PTH 3R AR, H1H

27) The cell reference for a range of cells that starts in cell C1 and goes over
to column H and down to row 10 is-/dd@ C1 § ®Iad H &1 3R -4 ot ufwa 10 95
Ja Joft F e da ey fean smar 82

1.C1:10H
2.C1:H10
3.C1:H-10

4, C1:H:10



Correct Answer :-
« C1:H10

28) Poliomyelitis known as Polio is caused by an enterovirus which causes paralysis of muscles.

This virus has a particular affinity to ? /Uifera & U H ST niferenwrsarsfey e teRifaRy
S AR & YTITd BT FRUT 941 & S PR gidT 81 I8 IRy P foru v fagiy Hay 82

1. Muscle Cells/ﬂ'm'aﬁltﬁ G| ﬁﬁw

2. Nerve Cells of Spinal Cord/ﬂ_@ﬁ €§°[ Dt dRPT BIfRBTSN
3. Nerve Cells of Brain/ARISh @1 AT HIRIBISHA

4. None of the above E:Iff | ﬁs‘:@

Correct Answer :-

» Nerve Cells of Spinal Cord/'\ﬁij?ﬁ 6@ P dfAHT BRSBTS

29) The Pradhan Mantri Adarsh Gram Yojana comes under the - / &= ®=1 sast
T AT e & & e siaeta omar 87

1. Ministry of Panchayati Raj / 9=t T #3114

2. Ministry of Rural Development / IHtor faeme w=merT

3. Ministry of Social Justice and Empowerment / HTHTISTS =73 i< SATERTIAT AT
4. Ministry of Finance / fa=t w=merr

Correct Answer :-

« Ministry of Social Justice and Empowerment / STHTIST =TT 3f¥ ATSaRTiar #smes

30) Which of the following option is best represented by the following

diagram?/ fFafafaa & ¥ <19 a1 faweu fw snefa g gxifar s awar @ 2

1. Chair, Table, Furniture/&dl, A, BifaR
2. Doctor, Social person, honest person/Sidex, TG Afad, SHMFGR afad
3. Family, Parents, Children/ GRAR, 3{fYTa®, a<d

4. Gold, Silver, Ornaments/ ?ﬁ:ﬂ, aﬁ’a"r, SHTHYU

Correct Answer :-

. Doctor, Social person, honest person/3ldeR, TTHTNEG fad, SHFGR Hfad



31) If ‘hand’ is called ‘eye’, ‘eye’ is called ‘ear’, ‘ear’ is called ‘nose’, ‘nose’ is
called ‘mouth’, and ’mquth’ is called ‘hair’, then through which we can
breathe?/3fd ‘g1Y’ B 3@’ BT ATd1 &, *31G’ Bl "B’ BT VI §, ‘BT’ Bl HTb’ gl
ST 8, A6’ B ‘U’ $el 9Tal 7, 3R U’ $ qIa’ &gl ArdT1 8, °f g9 9 frad ad 82
1. Mouth/Hg

2. Eye/&ﬁytq’

3. Ear/Td

4. Nose/ T

Correct Answer :-

. Mouth/Tg

32) In which year did the Dowry Prohibition (Maintenance of Lists of
Presents to the Bride and Bridegroom) Act come into force? / ggwl f-u% (geg
3R gRT B! R BT Ugd A $t vEvEra) sfufran fr af # ey fosar war?

1. 1984
2. 1985
3. 1986
4. 1987

Correct Answer :-

« 1985

33) DIRECTIONS: Find the Mirror image of the given image./ fa=r: €t mit
3Mpfa &1 gdur ufafara grd S

Question Figure: /qg9al JRpfa:
Answer Figures: / 3ea1R ﬁ'lﬂ?ﬁ'ﬂT

™ @ @ @
1.1
2.2

3.3



4.4

Correct Answer :-

e 1

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fardar: frufafed uy & uyeras e ) &
R U DI AT | ST ?

(340 x 9.98) = 6.4001+1245.15 =?
1. 1896
2.1776
3.1676

4. 2076

Correct Answer :-

« 1776

35) Which of the following days was announced as the Deen Dayal

Upadhyaya Grameen Kaushalya Yojana Antyodaya Diwas by the Ministry of
Rural Development? / i e @=mea & B & @ w99 =i 7 a7 <3 surearT
THIOT FHTAAT AT AT (Gad & €T | FAI1UT L [&IqT 74T 977?

1. 20th September 2013 / 20-ar fraw 2013
2. 20t September 2014 / 20-aT fRava 2014
3. 25t September 2013 / 25-aT fRawav 2013
4. 25t September 2014 / 25-aT fraw< 2014
Correct Answer :-

. 25t September 2014 / 25-aT frawT 2014

36) DIRECTIONS: Choose the missing terms out of the given alternatives./

frrdr: fow e famedl 9 & g vl &t 91d 7 |
m_ommn__m__nhommn_m.

1. onmo

2. nomo

3. monm

4. momn



Correct Answer :-

37) DIRECTIONS: In question below are given two statements followed by
two conclusion numbered I and II. You have to take the two given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts. /132 4 3T 0 u=q & @ Sy 3R 39S 91¢ o e I 3R II few e 21
3MUep! f2T 7T Sl HYAT B I AT & U &) 9 agrd aa) ¥ =1 udia g & 1 34h
foreput @Y ufew fpe T Fifore f feu e foewyt # ¥ i a1 e fow e sy &1
THIETA U F STHRYI T &, dTg HagTd ad $o W &1

Statements: /PY:

No tables are watches/®Is A+, sl g1 8

Some watches are Iamps/@@'ﬂ@, W%

Conclusions: /o

I. Some lamps are not tables/$3 U, A T8l §

I1. Some lamps are tables/%® $u®, A9 ¢

1. If only conclusion I follows /Hﬁmﬁwﬁl &@TUTW%

2. If only conclusion II foIIows/ZIﬁWﬁEh‘Gf II GFJﬁTUTW%

3. If neither conclusion I nor II follows /?T%:r?-ﬁﬁf@ﬂf I :Tﬁﬂ II &WW%
4. If both conclusion I and II follow /afe fswd 1 3R 11 A &@TUTW%

Correct Answer :-
. If only conclusion I follows /3f¢ Had fAsHY 1 SIIR0T Hl §

38) When was the Pradhan Mantri Swasthya Surakshya Yojana first
launched? / TeT H3T TATEST AT ST TATAT FF A AT TAT?

1. 2005
2. 2006
3. 2007
4. 2008

Correct Answer :-

« 2006



39) According to the Dowry Prohibition Act, 1961, which of the following
amounts to being a dowry? / g« fAae srfafe=m, 1961 % srgam= s & & =T e
gl T Aot | SruarT?

1. Presents and gifts / 3ug@
2. Affectionate and voluntary dowry / el va efsg® 8w

3. Food and arrangements / @THT U €1
4. None of these / =% & &I A&l

Correct Answer :-

« None of these / zA% & FIE 7l

40) How many tribal groups have been identified and categorized as
Primitive Tribal Groups? / fa« stfearet aygi & Mifafed snfeart 998 F 9 § 9R=7 ta
Srofire foRaT T 82

1. 70
2.72
3.75

4.77

Correct Answer :-

41) Shantam walked 6 m towards East, then took a right turn and walked a
distance of 9 m. He then took a right turn and walked a distance of 6 m. How
far is he from the starting point?/ id¥ 6 Hiex qd &t 3R =@ bz grft ok gs&e 9
Hiex ot gt au &1 | fipR a8 rfY 3R goT 3R 6 Hiex o1 gt a9 H11 3T 78 3+ RS fag
A fpafi g e

1. 9 meters/ 9 Hie?
2. 24 meters/24 Hie

3. 18 meters/18 e
4. None of these/‘s{qﬁ@[aﬁ'%:ﬁﬁ'

Correct Answer :-

e 9 meters/ 9 Hiex

42) A, B and C contracted to do a work for Rs. 4200. A can do the work in 6
days; B cando it in 10 days and C can do it in 12 days. If they work together
to complete the work, then what will be the share of C (in Rs.)?/ A, B 3R C



T fHdl 1H B R A & FU 3. 4200 § SH71 a1 11 A paT T FHA Bl 6 AT A, B
JFPASH A Fauc aFparsA R R Ipargl aficdafi vd s &, @ C
&1 fe==ar (&, ) | gRm?

1. 2000
2.1200
3.1000
4. 1500

Correct Answer :-

- 1000

43) Which of the following requires internet connectivity for access? /

frafafea # 3 feasd e sexe FAfdefad Ft smazadar 32
1. Facebook/w

2. Twitter / fgex
3. Watsapp / @requy

4. All of the above / Iudad It

Correct Answer :-

« All of the above / Jugad It

44) In a class of 60 students, 40% can speak only Hindi, 25% can speak only
English and rest of the students can speak both the languages. How many

students can speak English?/ 60?9133['3%@33&“ ff, 40% Wf%?ﬂiﬁ?rm%, 25%
?mmm%mmwﬁmﬁmmﬁlﬁﬁmﬁmmmm
?

1. 32
2.28
3.36

4. 15

Correct Answer :-

- 36

45) The digestion of protein takes place in-/ Ui &1 uras _Ea_cIT %—
1. Tleum/STd

2. Rectum/HARII



3. Duodenum/’]_ﬁmﬁ

4, Stomach/3ITHIRIYT

Correct Answer :-

e Stomach/AHTHIRIY

46) Amniocentesis is legally banned because:/TA e ufveor ) faftr & ufasfia fean
T § FifH?

1. It affects the health of the mother/dg HIdI & WY & ford sﬁw %
2. It harms the foetus/dg YUI & BIHBRS &
3. It causes the spread of AIDS/Ag UsH & e &1 HRUT

4. It is used for the purpose of selection of the sex of the foetus/dg SIH | tlj Hul o T =g+ o qgrad
ERGI]

Correct Answer :-

« Itis used for the purpose of selection of the sex of the foetus/dg SIH | @ Hul o fofT =91 & W
AT

47) A primary key in any table has the properties:/f&dt ft 2ga & wufre it
FI fawar @

1. No Duplicates/aﬁ'stgw Bi|

2. Not Null/Null =gt

3. Both of the above/B'El?Ia?l gl

4. None of the above/3T8 ¥ &5 g1

Correct Answer :-

« None of the above/37H ¥ ®Is 8!

48) DIRECTIONS: Study the following pie chart carefully and answer the
question given below. /3% fAufefad urd ard &1 o= T rgua R AR feu MU Uy &

I S|

Distribution of students studying in a University /T& fqyfaemeay o sreaga #3 3@
BTl &7 fauTe=



Arts/HT, 10%

Medicine, TafEsm, 8%
commerce/aoTFg,

33%

science/fave, 18%
Engineering/Fataratar,

16%

Total number of students /%d Bl &I GBAT = 8000

What is the total number of students studying in Engineering and Medicine

together?/ I 3R fafrsr faurt & et arad oo faenfRiaY &6t Tem fra-it 82
1. 1280

2. 5000

3.1840

4. 480

Correct Answer :-

« 1840

49) If the average of a, b, ¢, d, e and f is 18, then what will be the average of
a/5,b/5,c/5,d/5, e/5 and f/52/ df¢a, b, c, d, e 3N £ T 3T 18§, dt a/5, b/5,
c/5, d/5, e/5 3R f/5 BT 3iTd o1 g2

1.3
2.4

3.5

4. None of these/sﬂﬁﬁ Elﬂ'sc:@
Correct Answer :-

« None of these/39H T BIs 8!

50) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fdar: fAufeRaa uy & usars fas (2) F =M=
TR THIT DI AT | ST ?



4/1000000.000001 _ ?

1. 1000
2.100

3. 10000
4. 909

Correct Answer :-

- 1000

51) Which of the following is included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013?/ ®f2aTsii &1 Frdesa a2 & sefiew (R, it sz sfaam)
Fferfeaw, 2013 F a9 ‘FrEEAT | A9 & F 797 1A g2

1. Dwelling-house/ smama-g

2. Sports-complex / @@%g 5

3. Both of these / 3Tk aT

4. None of these / STZI<h & & &g &1

Correct Answer :-

« Both of these / 3U<I=k 21T

52) First synthetically prepared organic compound was / qAuYH ARAd Srefae 9 %

1. Glucose/ ’@ﬂ

2. Methane/ n‘ﬁ?
3. Benzene/ aTrﬁ:[

4. Urea/ AT

Correct Answer :-

« Urea/ AT

53) Pranay sells an article to Rohan at a profit of 10% and Rohan sells it to
Utkarsh at a profit of 20%. If Utkarsh pays Rs.2376 for it, what was the cost
price (in Rs.) for Pranay?/ WU fodfl axg &1 A8T A 10% HATHT AR 99 3T 8,308,
I@Y A 20% FATHT AHR 98 Ied 99 <dT 2| afe b Y P $.2376 YITATH HIAT U, f YR
DT HT T (3. H) 1 YU1?

1. 1980



2.1250
3. 1800

4.1750

Correct Answer :-

- 1800

54) Data link layer is responsible for / STcT féie @R IwRerf &
1. Error and flow control/ 3¢ 3R varg =0
2. Frame synchronisation / WW@@W

3. Both of the above/ IR gHl
4, To convert into bits/ ﬁw A Hac A P ﬁlﬁ

Correct Answer :-

« Both of the above/ IWRId Gl

55) In which of the following areas does the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan seek to develop the Panchayati structure? / Tsfia wieft
YT GRS COT SATATH 8 § & e & § G GCAAT T (AR FLA T AT @I 872

1. Tribal areas / sfearst &=t
2. Northeast / ITXTET &=
3. Scheduled Areas / ST &=

4. The whole country / T¥ 39T AT &

Correct Answer :-

« The whole country / ¥ 3eT 9T &

Topic:- Grad_Managerial Skill

1) Sociology is:/ THTS-RTFAE e

1. Arts of society/ THIS &1 Hall

2. Science of society/ THTS &1 fag=

3. Commerce of society/ JHIS &1 dTorsy
4. None of the above/3WIad § ¥ 15 g!

Correct Answer :-



« Science of society/ A &I fagm

2) Community development is possible when the approach is:/ 9qcdd oo

99 YT § 99 TSl e
1. Participatory/ SgHTRIdTgul

2. Top-down/ G{W (ﬁU—SIGH)

3. Autocratic/ RS
4. Bureaucratic/3f¥eRIdag

Correct Answer :-

« Participatory/ Fl_s’ﬂ-rrﬁlﬂTq;Uf

3) Other name of Community involvement is:/Iqard A@UdT BT gOT ATH &
1. Community Participation/ FITEETW UTtaR!

2. Community development/ ¥Hcl famrg

3. Community action/ ¥Hald Eau]

4. None of the above/IWRiad & ¥ 15 g

Correct Answer :-

« Community Participation/ GTH&I% HFGRI

4) Leaders work for the needs and interest of :/ ﬁ?n/ﬁaaﬁrf L]
ragharsii R TRl & foe srd s 71

1. Other leaders/ &Fqﬁmsﬁ/ﬁaaamfeﬁ
2. Group/ 9Hg

3. Government/ JIhRR
4. Extension workers/ﬁﬁR&‘&f@f

Correct Answer :-

« Group/ g

5) Traits of local leaders are:/ RIHIT Adrsi/Aqaddisil t faRwarg &
1. Physical fitness/ IRIN® fthed
2. Mental ability/ AFRI® aadm



3. Social attitude/ ST AT
4. All of the above/ ITdad T+t

Correct Answer :-

« All of the above/ Iudad Tt

6) Which Five Year Plan is also known as “Gadgil Yojna”/ f&d taadfa ais=m &t
“rsfra gieEr ff FEd 82

1. First Five Year Plan/ Ugcl Ugaug TreiT

2. Third Five Year Plan/ Si<t U=auig aeT

3. Fifth Five Year Plan/ Uigd! Ugasg areT

4. Seventh Five Year Plan/didd! Ugaufg a1

Correct Answer :-

- Third Five Year Plan/ 41} Uaqufg e

7) Pictorial is a form of:/ I (Reeiftge) _ #1FUE:
1. Interview/ HI&Th R

2. Questionnaire/ PRGN

3. Schedule/ SIgdl/THI-YRUH

4. Observation/ 3fddid-

Correct Answer :-

e Questionnaire/ PRI

8) First step of programme planning is:/ Praepd fFrareE o1 Ygdl dRUT %:
1. Evaluation/ gedie

2. Report writing/ﬁcﬁ?f e

3. Identifying problems/wéﬁ CARREIG]

4. Preparing plan of work/®TR TSHT GOR HRAT

Correct Answer :-

. Identifying problems/IH13] &1 Ugda™

9) Types of leadership training are:/ Aqd &V & TP &:



1. In-service training/ Har-d (3?—?!‘%) IR
2. Pre-service training/ ¥a1-qd (W-afaw) uferor
3. Both of the above/ SURIa &I

4. None of these/ ?ﬁﬁ | aﬂ‘aﬁ T8l

Correct Answer :-

« Both of the above/ RERCSRAR]]

10) A group working especially for the welfare and development of women is
called:/ faRiv =u & ufgarsii & weamvr vd fasra & g sriva aqg ot oal
ST 3

1. Balak mandal/ STl Hsd

2. Gram mandal/ 99 Hed

3. Mahila mandal/ Afgel Hed

4. None of the above/3WIad § ¥ 15 g!

Correct Answer :-

« Mahila mandal/ afgar dsd

11) Other word for welfare and development is:/ HTVT T4 fIbTH $T AT 149 8
1. Energizing /SN
2. Empowerment/I2Iadem T

3. Enriching/W@WUT
4. None of the above/B‘qﬂTﬁ el aﬂg‘ T8l

Correct Answer :-

« Empowerment/I=Iadd R0l

12) Barrier of communication is:/ IR &I 91T &
1. Audience/ T=f®

2. Communicator/ 49aR®

3. Noise/ IR

4. All of the above/t{q?jaﬁ ekt

Correct Answer :-



« All of the above/3Iudad

13) Fourth Five Year plan was the first plan launched by:/ DA vaadfg greEr
_ ERI IR™Y &I A ugelt grer ot

1. Mahatma Gandhi/ HelHTl et

2. Jawaharlal Nehru/ SIATeaTd Ag%
3. Indira Gandhi/ $fexT TTeh
4. Sonia Gandhi/‘vﬂﬁfﬂ el

Correct Answer :-

. Indira Gandhi/ gfexT TiTedt

14) Main focus of Second Five Year Plan was:/ a3l Gaqulq T+ &1 TB&T BIvd
Yr:

1. Self reliance/ SraAfRar

2. Technology development/ PIBIRICAREEAS]

3. Industrial development/ e gy

4. Administrative development/ RIS [deg

Correct Answer :-

« Industrial development/ e e

15) What are Leaders?/ ﬁ?ﬂ/ﬁﬂﬁfﬁﬁ 1 8 a2
1. Head of the group/ ¥¥g &I R

2. Tail of the group/ I4g &I U8

3. Body of the group/ FIHE’%TW

4. None of the group/ JHg &1 8 e

Correct Answer :-

« Head of the group/ dHg &I R

16) Radio is:/ Yfeal g1 g1
1. Folk media/ @& ATH

2. Print media/ fiic A1eo9



3. Electronic media/ aadgTﬁelv HITH

4. All of the above/ Iudad Tt

Correct Answer :-

« Electronic media/ SAdciHd H1eOH

17) What figure best describe the communication process?/ ®--3l @i
HAR UfehaT &1 Aaiad qui- SRl g2

1. Square/an
2. Circle/ 9d

3. Triangle/ ﬁ'l;l,TrI
4. Line/ Pee)|

Correct Answer :-

« Circle/ 9d

18) What type of process is communication?/ S9R &3 UsR @) ufsear 82
1. One way/ Ush-dXW]

2. Two way/ SI-aRWT

3. Three way/ diF-aR®I

4. None of the above/ IWRIdd § ¥ HIg ol

Correct Answer :-
« Two way/ I-dwT

19) Top priority in Eighth Five Year Plan was given to;/ 34l Yaayfa oy §
P gar wrdfrear & i f

1. Employment/ ISR

2. Education/ fRreq

3. Public Health/ 9rdwifHe WA

4. All of the above/3udad Tt

Correct Answer :-

« All of the above/qujEH gt



20) Gram sevika is an example of:/ ITH dfd®T PT IaTET0 8:
1. Professional leaders/ Wﬁ?ﬁﬁﬁﬁ
2. Local leaders/ R ﬁ?ﬂ/ﬁm

3. Government leaders/ IRHRI ﬁ?ﬂ/:kjcclobdlr

4. None of the above/IWRIad & ¥ BT Tal

Correct Answer :-

« Local leaders/ RIMIT dl/Aq@ddi

21) Reduction of Gender inequality was the main focus of:/ TP =TT B
| P BT By UT:

1. Eighth Five Year Plan/ 3Tad! Uaas(g aieT

2. Ninth Five Year Plan/ Fidt U=asg gieT

3. Tenth Five Year Plan/ cgd] Ugaufg a1

4. Eleventh Five Year Plan/ TTgxd! Ugaufa Ao

Correct Answer :-

« Eleventh Five Year Plan/ TTg3d! U=ay{g areiT

22) Which is the current Five Year Plan of India?/ HIRd $ daHTH Uaaufg qie-n
- 22

1. Ninth Five Year Plan/ Tl dgau{g gioHT

2. Tenth Five Year Plan/ cgd] Ugaufg a1

3. Twelfth Five Year Plan/ SRgd! Ugaylg dieH1

4. Thirteenth Five Year Plan/ dRgdl Ugaug o1

Correct Answer :-

. Twelfth Five Year Plan/ SRgdl UIdsd T

23) Modernization of Industries was a major highlight of which Five Year

Plan?/ 3N &1 AMYFPteevl foa daadfa g &1 te ug@ fawg ur?
1. Second Five Year Plan/ GuX! Uaaula gier

2. Fourth Five Year Plan/ T U=asg gieT

3. Sixth Five Year Plan/ @31 Ugaylg diemT

4. Eighth Five Year Plan/ 3fTad! Uaas(g aiT



Correct Answer :-

« Eighth Five Year Plan/ 33d! Gaayfg s

24) Duration of Tenth Five Year Plan was:/ gHdl Uga¥fg de=T @t 3rafdr i
1. 1992-1997
2.1997-2002
3. 2002-2007
4, 2007-2012

Correct Answer :-
« 2002-2007

25) What is the main role of local leaders?/ R ﬁ?ﬂéﬁ/ﬁﬂm‘f&ﬁ @t 81
yftreT & gt 82

1. Influence the group/ 99g BT gUTIIdT HAT
2. Train the group/ dHg D1 TR BT

3. Lead the group/ T4g &T Aqd Bl
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ B“q?j?ﬁ gt

26) Planning Commission of India was formed in the year:/ HRd H gre T
ST Pt I T H g3 i

1. 1950
2. 1960
3.1970

4. 1980

Correct Answer :-

« 1950

27) Professional leaders are selected through:/ URIaR Ad13ii/Aqa@®dtis & 99
P HTegH A fopar wiran @

1. Interview/ II&Tch R



2. Votes/ Hdqld
3. Observation/ 3fddidh
4. None of the above/m?ﬁ 7 Hﬂé :TE‘T

Correct Answer :-

e Interview/ dI&Th R

28) Formal Institution of society is:/ JHTS P NUATD TR &:
1. Gram panchayat/ 919 U=mdd

2. Rural school/ gt fa=me™

3. Primary Health Centre/ YIS W &g

4. All of the above/GCPjTﬂ gt

Correct Answer :-

« All of the above/T:FCPjaﬁ ekt

29) A person who adopts a new idea before everyone is:/ 9T&! 9 & uga foredt
T faR &t 3= aren safed Pedrdm g:

1. Innovators/ aydd®

2. Late majority/ UY SgHAIRI

3. Laggards/ W/ﬁ?{@@

4. Early majority/3RTY% SgHdi

Correct Answer :-

« Innovators/ Tavdde

30) One Child policy was launched in which Five Year Plan: /{3 Ueadfa gieT
H e ar i Ry ot W=t 0

1. Fifth Five Year Plan/ Uiad! 4aquig dreHT

2. Sixth Five Year Plan/ ®3} Ugaug gror

3. Third Five Year Plan/ TRt daasfa aieT

4. Seventh Five Year Plan/Iidad! dgasfg a1emT

Correct Answer :-

« Sixth Five Year Plan/ ©d! UIdug gieHT



31) Which is the best model of communication?/ IR &T YaH Aisd SIH-IT

&

1. Leagans model/?ﬂ'ﬁ?‘[ﬂT?st

2. Aristotle model/3R¥q AIgd

3. Shamon-weaver model/HM-aaR Hied

4. Berlo model/ gqt Ared

Correct Answer :-

« Leagans model/dN=g AISd

32) Example of Non-verbal communication is:/ 3TN TR BT ISTEI0T %:
1. Signs/ dod
2. Gestures/ gld-HId

3. Actions/ febamq
4. All of the above/3udad I+

Correct Answer :-

« All of the above/t{q?iaﬁ ekt

33) Primary data are:/ WUf¥® ST &
1. Second hand data/ 9% g8 Sl

2. Tertiary data/ ?FﬂTW el

3. Original data/ gd s¢l

4. Organized data/aHarRyd Sl

Correct Answer :-
« Original data/ ﬂﬁ@ﬂ

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & eaFyde yes: 39 4 3 T sgfawed! u=ai & 98t
fawea &1 a7 B



The word communication is derived from a Latin word "Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Tl Weg FRIIHIF I Afe Weg "o’ | foran man 8 foraer ord 3 vemm
1 gqren’ | gg o=y, gy, WY, HraArsi a1 I9uY BT GHINUT T IS =afhar g1 HE,
Wadhdl & qdgR § geard @ | Jgayul Yf¥reT fFurar 3198 vsgl, wdiel, ddal, iart
T Al & U H 8 HdT g1 T8 AN & ATeaH A 1 Harq & Yo+ gd 8| Yad: TR
FYd IUY UHl, ", "ohdl, AN (IT9), fawprea (SwfEm), wrasal, w1t wd ufayf® @
ATARIHAT Bt 31 Tg R TF Uiy Ao &t U Fad ufehar a1 9% 3159 UhR "aR
STFERL, faErR, 33, yrars 3R THe-ATug < &I 3RI-UrT & 30 AN | JT3 B BT
TP SN]d Y41 8| TaR a9 YUTA! a7 § I ISR Th-gax & gRT T3 R form o 8fik
Tug feram s afe uraeat Ser @ St It ord A 8 urar @ o e #
TaRedt 3 ¥ WS AT 91 98 AR 81 81 YT Y9 & fore gg simawge &) f¥ ureasat
SFPR ¥ JgHd 8 31 9T 3§ TSR HY | afe Tz gue fomam mar g O a1 vaiw 21
g AT Y B Twar 21 3H UPR, D TaR # W Y S} JHH 991 Wi 81

Communication is derived from:/ R Wﬁﬂ?&’ﬁ, Uh ¥ forar mar %:
1. French word/ g Teg

2. Greek word/ W& s

3. Latin word/ dIfd-t s

4. German word/SH eg

Correct Answer :-

« Latin word/ i Ueg

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd e # aFyd® TeH: 39 4 3 T sglawed! u=ai & 98t
fawea &1 a7 B

The word communication is derived from a Latin word "Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,



feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

IR & 3Tl Weg FRIIHIF B Afe Weg "R’ | foran man 8 foraer ord 3 emm
T gqren’ | gg o=y, gy, waY, HraArsi a1 I3uY BT GHINUT T ITH) =afshar g1 HER,
Uaddl & sadeR § dearg aM § "gayul YfRreT fHutar 8138 2reel, wediel, Tdbal, srerl
T HTA1 & ©U T g Thdl 81 g AN & W1 A $1 HaM BT Y=~ g 3| ad: §aR
Fd U UHl, ", "obdl, AN (I3T9), fawprea (SrdfEm), wrasal, w1t wd ufayf® @
SATIRTHT gid! 1 T§ TSR T4 ufagfd e o1 U Jad ufshar a1 9 3139 TR JaR
STFERL, faarR, 33, yrars 3R THe-ATug < &I 3RI-Ur & 30 AN | T3 B BT
TP SN[d AT 81 WO 99 YHTE €T @ o Hau Ush-gaY & gRT |Iei &< fram oy 3k
Tug forar s afe uraeat Ser @ St It ord A 8 wurar @ o e #
TARPdl 4 IV UST 4T ) I8 TOR 81 81 UHTdt W & fore gg sraxas 78 {6 wraasat
STFPR! ¥ JgAd 8 8§ a1 3§ WeR Y 81 afe Tz gus foram mar g Y a1 yaiw 81
g AT Y B Twar 31 3H UPR, 3D YaR # W B S} JHH 991 Wi 21

Communication changes the behavior of: /JdR DI YdgIR dgddl %:
1. Extension worker/ﬁw?b_lﬁ
2. Receiver/ T dl

3. Communicator/ JIR®
4. Leaders/~qadmdiafl/~arsit

Correct Answer :-

« Receiver/ UTddl

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafifEd e & eaFyd® TeHs 39 4 33 T sgfawed! u=ai & 98t
fawea &1 a7 B

The word communication is derived from a Latin word "Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through



people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

AR & 3 Weg FRIAGIA $1 Afew g “wrgir F fomar wan @ Rraer ok @ emm
1 g’ | g foamy, g, wa), HraAre a1 vau) o1 gWiver ug 3@ safhar g1 IER,
W dhdi & TgeR A deard a1 A Hgayul Yfirer fAurar 8198 sl wdiel, dddl, serl
T F14f $ ©U A 8 Ghdl 81 g AN & AT1ead | S HaM BT Y=~ g 8| Jad: GaR
P g U}, "W, Tdhat, A (W), s (SafEm), uwrasal, w1t wd ufagfy
STIRYHAT gl 81 T§ WS Ta ufayf® Yo &t ue Jad ufshar a1 ook 3159 IR 9aR
TP, faarR, 333, HraAme 3R T<-AT9=< &I ATH-UTH & 37 AN A "I B Bl
T WA TN 81 §9R 99 THTE ST 8 o9 HaR TPh-guR & gIRT 9T PN or WY SR
Twe forar sime| afe urcaedal S B St I ord 7 F8Y werar @ o erfyumg ®
TaRedt 3 ¥ VST AT 91 98 HGR 81 81 YT J9R & fore gg smawgs 8) {6 uraswdat
SR ¥ HgHd 8 8 a1 38 WeR &Y 81 gfe ddxr gwer forar war g @) ga-n vt 21
g BT ft B THaT 21 5 UPR, D YR § Hex $ =St g9 F4911 Wi gl

What type of process is Communication?/ IR &3 UsR & ufspar 82
1. Continuous Process/ Sdd Ufehar

2. One-way process/ Tdh-dxbl gfoear

3. Social Process/ HTHTN® Hishal

4. Psychological process/mﬁ%ﬁm gfeear

Correct Answer :-

e Continuous Process/ ddd ufehar

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa weiz &1 wFyde ygss 9@ i @4 T sgfawed u=-i & wdt
fawey &1 799 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a



continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

AR & 3 Mg FRIAGIA $1 Afew g g F fomar wan @ Rraer ok @ emm
1 gqren’ | gg fo=my, 9wy, A, HraArsi a1 I9aY BT FHINUT Td IS =fhar g1 "9,
WIddl & oIdeR § deard a § Hgayul YT fHuTar 3198 Sreal, Udidl, i, &Rl
T FTT $ ©U A 8 Ghdl 81 g AN & AT A $1d HIaM BT Y=~ g 8| Jad: GaR
P g U}, "W, Tdhat, A (W), s (SfEm), wrasal, w1t v ufagfy #
STIRIHAT gl 81 T§ WS Ta ufayfd Yo 3t ue Jdaq ufshar a1 o 3159 IR 9aR
TP, faarR, 333, HraAme 3R T<-AT9= &1 ATH-UTH & 37 dRN A "I B Bl
TS SN[ WO 81 SOR a9 YHTA BT § ofd HexT Udh-gax & gIRT 913 & foram 9 iR
Twe forar sie| afe urcaedal SFet B St I ord 7 A8 wwerar @ o erfiumg #
TaRedt 3 ¥ VST AT 91 98 HGR 81 81 YT Y9R & fore g smawae &) fP urasat
SR ¥ HgHd 8 g a1 38 R &Y 81 gfe "dxr gwer forar war g @) g9 vt 21
g RAIHRr ot B THdT 81 U UPNR, I AR H WeW B S FHL I411 WA 2|

Communication is a tool of:/ AR DT FTYUT (geT) :
1. Resource/ 99149

2. Channel/ HI9H

3. Action/ STIdTg!

4. Management/Jee

Correct Answer :-

« Management/Uded

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde tgss 39@ i @4 T sgfawed u=x-l & w&t
fawey &1 999 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,



feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Rf Tt FRIAHRA &) dfer weg “wryf I fomr war g foraer o 8 remm
1 gqren’ | gg fo=my, 9wy, A, HraArsi a1 I9aY BT FHIUT T4 I =fhar g1 "4,
W dhdi & geR W dgard a1 A Hgayul Yfirer fAurar 8198 el wdiel, dddl, &Rl
T H1al & Y A g JhdT g1 T8 aN & J1eaH A 1 Harq & Yo gd 8| Yad: R
Fd 9y U}, "W, Tdhat, A (W), s (Saf$m), urawal, w1t d ufagfy #
SATIRYPHT gid! 81 Tg YR Ud Uiyl oM o1 U Jad ufshar a1 9 3139 UPR JaR
STFeRY, faarR, 333, HraATe 3R T<-AT9= &1 ATH-UTH & 37 AR A "I B Bl
TS SN[ WO 81 SaR a9 YHTA BT § ofd HexT UP-gax & gIRT 913 & foram 9 iR
e forar e ofe uraeal SIS & St It o # S Iwerar @ o siftuma #
TaRedt 3 ¥ VST AT 91 98 AR 81 81 YT Y9 & fore ug smawae &) fP urdasal
SR ¥ HgHd 8 g a1 38 R &Y 81 gfe "dxr gwe forar war g @) g9+ vt 21
g AT ot B Twar 21 3H UPR, 3D YuR # W B S} JHH 991 WiE 81

Communication can be in the form of: /AR ¥ =9 ¥ g 9Pl
1. Idea/ faarR

2. Facts/ d{yg

3. Opinions/ Hd

4. All of the above/GCPjTﬂ Tt

Correct Answer :-

« All of the above/T:FCPjTﬂ Tt

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde ygo 9@ - @4 T sgfawed u=-i & w&t
fawe &1 79 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no



communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Rf Tsg FRAHRA &) dfer e “wrgft I fomr war g oraer o g e
1 gqren’ | gg o=y, 9wy, A, HraArsi a1 I9uY BT HHIUT T IS =dfhar g1 HER,
Waddl & qdgR # geard @ | Agayul Yf¥rer fFurar 3198 vsgl, wdiel, ddal, srart
T H1al & U A g JHdT g1 T8 dFN & ATeaH A 1 Harq & g ¢d 8| Jad: R
P g U}, "W, Tdbat, A (W), s (Saf$m), wrasal, w1t wd ufagfy #
SATIRYFHT gid! 81 Tg YR Ud iyl oM o1 U Jad ufshar a1 9 3139 TR JaR
TP, faarR, 333, HraAme 3R T<-ATa= &1 ATH-UTY & 37 dRN A HIST B Bl
TP SN[ W 81 TOR 99 TYTH ST 8 919 SR Uh-gas & gIRT T3 o o wre 8w
Tuer forar wu | ofe uraeal Ser & St It o # S Iwerar @ o srftruma #
TaRedt 3 ¥ VST AT 91 98 AR 81 81 YT Y9 & fore gg smawae =8} f& uraeal
SR ¥ HgHd 8 8 a1 3Q R &Y 81 gfe "axr gwer forar war 8 @) g9+ vuiw 21
g AHUT Y B Twar 21 3H UPR, 3D TuR # W B 3B} JHH 991 Wi 21

What is good communication?/ 33T 4R I ?
1. Good Message/ =3l BSER

2. Creating understanding/ SHI §HT

3. Providing treatement/ dgR/3UdR Uald Hl

4. None of the above/SWRIdd ¥ ¥ HI5 el

Correct Answer :-

« Creating understanding/ 9 ST

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yees 39@ 1 f3d T agfawadt uxei o W&t
faw ey 1999 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,



question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

A URT B T TAUBIT & TTUT 98% I HaR BT ¢l HP 204 R ¢ forqw I
150%%@&?%@?54@%%%%%@@ 100% Wfe®
Ugd aTdl, 99 WOR $T TP debTd H1eH §, W URd ¥ et 3 I0raRl, $<iaed JaeR
gafed MR freht Mial & wa & eramar srom g1 Jrd ura =8t fear 81 ot vy
YR yrare SR Siferal & 77 auf @ WRU & Tav(e, gg ol a WA, $fY, s
a1 feA-ufafem 3t wve ar=garsi 1 R ¥ S IRife 99mER 9id aRafae df o
T8 99 T 21 IS TP 95 AW HIAH 21 g8 APA 8, HAUTa @ 8k AHiEs ot @1
BT 34 fasga ¥ 37 & fE T 78 o¢ 9od &1 39 5! /qurell, yegi=l @ wefia
Tyone, ArERAT @ IuARET, SHHal ! e & I8 | A1 a1 ST, 79d 9
Heftra darafral, I & ypiy, AR, feaml @ Jdafta gumar aianst, Jarerd,
s, dfdra arataf, Ares!, wea=l, Bl iR gu Rl & fore v fovam < gwar 81
I & Y 3T UPR § - g GAR F 37 fdt off wrem o gaen & st @t a@ asht
¥ UgT IHdT 8; TP SIS B FHT A TG B THdT § 3R UeTHd JwaT
21 T8 fFReRY a% uga Ioar § 3R I™re fAfifa #= 9oar @ v 3y 991 9 g 3|
I & yah ot o ™R FEE 39 ueR 7 IR iy daa e wE § Sudas
8, fawR &t fear mar fraiss wwg Hifta giar g, TARe= & 91y ufaget & ura: g o
2, TRUmH W AR TE@AT 134 2, ARy aeiie 3t srawadar @it 2, urftor saret §
;Tg;wﬁﬁzﬂéf%’,eﬁvmmﬁmwm%ﬁﬁwaﬂﬁgﬂ
|

Total radio stations in India are:/ HIRd i Wﬁtﬁ '\‘%'!IF-T%
1. 150
2.402
3.204

4. 540

Correct Answer :-

- 204

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa weiz &1 wFyde ygss 9@ i @4 T sgfawed u=-i & w&t
fawey &1 799 B3I

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave



stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

U YRT B Fo FTAHET F ATHIT 98% P HaR HIdl 81 TP 204 WA ¢ o d |
150:ﬂﬁmwaa§m&m%eﬁ?54mﬁaaém=r%|mw%waﬂw 100% Wfe®s
Ugd aTdl, 51 WOR $T TP debTd AW §, W URd § fea I IR, $=iaed IaRR
gafed MR fredt Wil & wa & sramar srom gRT JmA ura =8t fear 81 Tt v
YR yrare SR Siferal & 77 auf @ WRU & Tav[g, g8 ol a@ WA, $fY, s
a1 fe-ufafem 3t e ar=garsi o1 R ¥ 3 IRife 99ER did aafae df §
T8 99 91 21 IS TP 9gd aW WA 21 U8 B €, AU ¢ 3R e off B
BTaifep 39 fagd 391 37 & e v =8f #R g &1 39 o1 /T, vemHl & ddfta
Ao, IRl # Iuasar, Sl T fe & I | JEAre a1 Sraeal, fd
et Jaratral, I & Uiy, JHERT, [Paml & Jafta gumar aienst, R,
wyieal, dfdra arataf, Ares!, wea=l, wied iR gu el & fore v fomam < qpar 81
I & Y 3T UPR § - g GAR & 3= fdt off wrem o gaen & sifte @ a@ asht
¥ UET IHdT 8; TP STHDIRA]l B THT A FATIRT H THhdT § 3R UeTHd JwaT
21 g8 fFReRY a% ugda Ioar € 3R I™re fAfifa #= Joar @ wd 3y 991 9 g 2|
A F W A $o ™R T 39 THR §: TR GRAure Faa Ha e @ Suas
8, fawR &t fean mar raiss wwg Hifta gar g, TAReH & 91y ufagsf & ura: g ot
2, IO W ToR 7@ B 8, fadiv de-iie @t sragaedr gidt 8, arHior sare o
gﬁﬁwﬁﬁ,ﬁwmmmwm%ﬁﬁwwﬁm
|

Which type of media is radio?/ Yeal 5T yerR &1 ATenH %?
1. Individual medium/ 3afdae ATy

2. Mass medium/ SIH HIYIH

3. Group medium/ HHg HIIH

4. Single medium/Ushd HIH



Correct Answer :-

« Mass medium/ S HIH

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEd weiz &1 wFyde ess 9@ i @4 T sgfawed u=-i & wdt
fawey &1 799 I

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT B Fo TAHET F ATHIT 98% P! HaR Bl 81 TP 204 WIH ¢ ford |
150%%%%@?54%%%%%%@% 100% WMfe®
Ugd ardl, SIF YOR $T TS depTd ATHH 8, W URd # IS 3 R, $-ued qURR
gafed iR firadt Wil & wa & sramar srom gRT JrA ura =8t fear 81 9t v
YRt HTarsf SR diferal ¥ 77 auf & R & q1a9[g, I8 W 9% WA, $iY, IR
a1 fea-ufafeq 3t g ar=uarsi o1 RFY €9 d YRS 99ER Jid aatas odf |
T8 91 TT 1 IS TP agd AW HIHH 21 U8 WIPd 8, HTHTa @ iR SHiws ot 21
gTaife 39 favga 39 37 & fore w8t o 9dd €1 3/ Sodl /qursh, yeRl & Jefta
ayons, IRl & Iuasar, Sl T fe & I # AT a1 Sy, iw @
Yafed Jarafal, A F yeiy, HER, A @ Jafta guerR aHiansit, Jrerer,
g, Jfér arate, Ares, vga, W o gu e & fore wah fman w1 v B
IS F Y 3T UPR § - 98 WOR & 37 fHelt oft Jreq $t g § ok @ 9 aei
¥ UgT IHdT §; TP STFDIRA]l B THT A FHATINT B THdT § 3R UeTHd Iar
21 T8 FPReRY 9% uga Iovar 3 3R I~re fAftfa &% 9ear @ vd w1 s91e @ 9oar g1
IEA F T A $o ™R T 39 THR §: TR giaurt Faa Hiia i @ Suas
8, fawr ot fear w1 aiss wwg Hifta gar g, TARe & 91y ufaegyf § ura: gR ot
2, TRUmHY W TR 7@ 134 2, AR deiie Pt srazaddr @it 2, urfior sare) §



ﬁgﬁwﬁﬁzﬂﬁ%’,eﬁvmmmmwm%ﬁﬁgﬁqﬁwaﬂﬁgﬂ
|

Radio is:/ ¥f&at gt 3

1. Fast/ a9l

2. Popular pleasing/ ABNT 3R FFHTIA
3. Exciting/ JHE®

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 9@ AR 33 M sgfaw«dt uz=i & w8t
fawey &1 999 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

A URT B T TAUBIT & TTUT 98% I HaR HIdl ¢l P 204 R & forqw I
150%%@%%@?54@&3%%%%@@ 100% e
Ugd aTdl, 99 WOR $T TP dbTd H1eH §, W URd ¥ et 3 I0raRl, $=<iadd JaER
gafed R freht Mial & wa & sramar sroAm g1 wmd ura =8t fear 81 Tt vy
YR yrare 3R Siferal & 77 auf  WRU & Tav[g, g8 ol a@ WA, $fY, =R
a1 fea-ufafeq 3t g ar=aarsi o1 R 9 A TR 99ER did aafas sl &



T8 991 91 21 ST TP 95 o A1 3| T ABA 8, AAUTIH & MR i oft
gTaifer 39 faga 399 37 & forw v =8 #- g &1 39 doHi/quTeH, el & Tdfta
o, ArEREl @ IuaSET, SHHdal R e & a8 | FEAre a1 JrHeeal, id 9
Hefta daraf=ai, I & e, FHrER), feae O Jeafta guer aftene, aarer,
wyrafal, dféra araten, Arest, vgae, Wit ok gu el & g wah fosan < g 81
IS F TH 3 UPR ¢ - 98 R & 37 fHalt oft Jreq Ft go=n A et @ a9 aeh
Y USd 9P §; AATaAD JAFSIRA] B THT A TATRG B gHdl @ 3R SrUemdd Jwn
21 T8 fFReRY a% ugda Ioar § 3R I™re fAftfa #= Joar @ ud 3 991 9 g 3
I F T B $o TR U 39 THR §: TR giRAurt daa S R | Suas
3, fowR &) fear mn Rretss awa Wifia grar 5, A-ReA & 91y ufawayf & wra: gR e
2, TRUImHY W TR 7@ $ied g, ARty deiie Pt srazaddr gt 8, arfior sare) |
W;@Tﬁﬁfﬂﬁﬁ,aﬁvmmmwﬁlﬁwﬁﬁa%ﬁww%ﬁ
Tqad

Radio is used for announcement about:/ IS &1 ITART J Tefia
myunsit & fore forar wirar @:

1. Meetings/ W/Hﬂﬂe—ﬁ

2. Demonstrations/ U&xH!

3. Outbreak of diseases/ IM & YU
4. All of the above/Iudad Tt

Correct Answer :-

« All of the above/3Iudad it

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3u@ AR 3 M sgfaw«dt uzei o w8t
faw ey &1 999 B3

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build



enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT B Fo FTAHET F ATHIT 98% P HaR HIdl 81 TP 204 WA ¢ o d &
150%%@%%@?54%%%%%%@% 100% Wi
Ugd aTal, 99 99k $1 U dobTd UTHH 8, W HRd ¥ ¥ 7 IR, $=aed guEaR
gafed R freht Ml & wa & sramar srom gRT JmA ura =8t fear 81 Tt vy
YR yrare SR Siferal & 77 auf @ WRU & STav[g, gg ol a@ WA, $fY, =R
a1 fe-ufafem 3t e ar=garsi o1 R ¥ S IRife 99ER |9id aafae df o
T8 99 91 21 IS TP 9gd o WA 21 U8 AIB 8, AU ¢ 3R AT off B
BT 34 faega ¥ 3 & fT T 78 ¢ 9d &1 38 5! /qurell, yezi=l @ wefia
aryumsit, ARy @ Iudsudr, Faal R 3fe F I & FEArsit a1 wraeal, Hw @
et darat~ral, I & uHid, JHrER], fFaml & Jafta gumar aienst, R,
wyafea, dfdra arataf, Ares!, yea=l, B iR gu el & fore wa fovam < qwar 81
I & Y 3T UPR § - g GAR F 37 fdt off wrem o gaen & sifte @ a@ asht
¥ UGT IHdT 8; TP STFHIRA] B THT A THATIRT B JHdT § 3R UeTHd JaT
21 T8 fFReRY a9 uga Ioar @ 3R I™re fAfifa #= 9oar @ v 3y a9 9 g 2|
s F wh A $o ™R T 39 THR §: TR GRaure Faa Ha e § Suas
3, fowar 31 four mn freics way Wifta ghar 3, wAReH & w1y ufawayf & ura: g wran
2, TR W ToR 7@ 3o g, R deiie $t razaddr gt 8, arfior garet A
ﬁgﬁwﬁﬁzﬂﬁﬁ,eﬁvmmmmwm%wﬁWWQQﬂ
|

Radio is considered as:/ IfEa =t HTAT SITdT %:
1. Relatively cheap/ &FETEJWW

2. Very costly/ §gd HgM
3. Quite boring/ ¥gd kY
4. None of the above/SWRiad ¥ ¥ &3 Tal

Correct Answer :-

« Relatively cheap/ &ﬁ&m‘\:ﬂ?ﬂ

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 3@ AR 33 M sgfaw«dt vzl o W&t
fameu o1 999 B3

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in



dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST URT B Fo TAHET F ATHT 98% P HaX Bl 81 TP 204 WA ¢ ford |
150%%%%@?54%%%%%%@% 100% Wfea®
Ugd aTdl, 51 WOR $T TP debTd ATHH §, W URd ¥ fe$a F IR, $=<iaed IaRR
gafed iR fireht Wil & wa & sramar srom gRT JmA ura =8t fpar 81 |t vy
YRt Hrarsf ok diferal ¥ 77 auf & IR & 91a9[g, I8 W 9% WA, $, IR
a1 fea-ufafen St g ar=uarsi o1 RFY 9 d URife 99ER Jid aafas odf 8@
T8 99 TPT 1 IS TP Tgd AW HIHH B U8 AP 8, HAUTaH @ iR AHiEsd ot B
gTaife 39 foRgd 19 &7 & T wah 1) % a@d €1 59 dool/qursh, =il A Hefta
o, IRl & Iudasar, Sl MY onfe & I & e a1 Sraeval, fiad @
Tefta Jarafral, M &y, JrarER), fFaml @ Jafia gumar gienst, aereri,
wyrtal, dfére araten, Arest, vgael, wiesd ok gu el & g wa fosan o g 81
IS F TH 3T UPR § - 98 WOR & 3= fHelt ot Jrem Ft g § o @ a9 aei
¥ Ugd 9Pl §; SAQATaAD JAFSIRA] Bl THT A TATNT B THdl @ 3R UeTHd Jwm
21 T8 FPReRY 9% uga Iovar 3 3R I~re fAftfa &% 9oar @ wd o s91e @ 9ar g1
A F T A $o ™R U 39 PR §: TR Giaurt Faa Hia i @ Suas
g, foar & faan man fypiss aua diftra giar 8, a9ies & a1y ufowgyf & ura: gR siman
2, TRUImHY W AR 7@ 134 2, AR deiie 3t srazaddr @it 2, urfior sare) §
gwﬁ%ﬁﬁ,mmmmmwm%ﬁwmam
|

Limitations of radio are:/ fEar #t W %

1. Not enough sets/ Talt I& & dey g1 g

2. Require special techniques/ foRIY @& I ATTIHT
3. Difficult to check on results/ TRUME TR AR W&+ H Eb‘%_rITé
4. All of the above/3udad qt

Correct Answer :-

« All of the above/Iudad i



Topic:- Grad_Child Care and Education

1) What are functions of UNICEF:/W%WW 2
1. Child Nutrition/fRrg giwor

2. Child Health/ R W@

3. Child Education/fRrg] &

4. All of the above/IWRIdd Tt

Correct Answer :-

« All of the above/IWRiad T+

2) Orphan homes are ./ SATYT™ ﬁﬂTﬁ'&ﬁ?ﬁ%
1. Institutional Services/IRITHS JaTY

2. Non Institutional Services/3RRIHS Ty

3. Institutional & Non Institutional Services/IdRITH® Td FHARITHD T

4. None of these/stlﬁ@faﬂ%ﬂ'eﬁ

Correct Answer :-

« Institutional & Non Institutional Services/IRIAS TF SRITHP TaTQ
3) NEONATE means: /-d9ITd &1 Ag® 34 3:

1. New/qd1

2. Child/d=dl

3. Beautiful/g<}

4. Face/dgx1

Correct Answer :-

4) What are the factor responsible for plateau of learning: /Je1 $ T6R &
PRI B A §-

1. Polluted Environment/g/¥d ardraxor

2. Less 1Q/Sfaall 1 &HH g

3. Not Paying Attention/®Td = I



4. All of the above/IWRIad It

Correct Answer :-

« All of the above/IWRIad I+

5) Genetic diseases is related to:/éﬂﬂﬁwﬁﬁmmﬁﬂﬁ
1. Hemophilia/%'mﬁb‘m

2. Hypertension/%]‘a’qw

3. Fibrosis/WTSsIRIY

4. None of these/3TH ¥ &5 ol

Correct Answer :-

. Hemophilia/%'ﬁﬁ'fﬁv‘m

6) Main characteristics of childhood is:/ STeITaRIT 3 Y= fa=iwar Fm &-
1. Curiosity /ST

2. PIaying/@?FlT

3. Reading/UaHTl

4. Talking/STd &A1

Correct Answer :-

« Curiosity/fSRimaT

7) Percentage of Hemoglobin in Newborn/sauTd ¥ad # fguvaifas ufa=m giar 8-
1.17-19 Gram/17-19 JH
2.19-25 Gram/19-25 UH
3.12-17 Gram/12-17 UH

4.9-12 Gram/9-12 UH

Correct Answer :-
e 17-19 Gram/17-19 UMH
8) What is the full form of NIPCCD:/NIPCCD WI{THTF[W%:

1. National institute of public health and child development/ﬂ@ﬂmﬂﬁww
RRIIE]



2. National child policy/ITsHd &Td Hifd
3. National child board/ITs¢t &Td &t
4. None of these/3TH ¥ &g gl

Correct Answer :-

. National institute of public health and child development/IT¢Ia SHHEANT Td &Td fab™

9) Ma-Ma-Cha-Cha sound is related to:/ HT 91 1 91 @47 f6ad Hefid 2:
1. Babbling/ddd 1
2. Gesture/gTdHId

3. Comprehension/ 3fi®ad fad
4. None of these/‘e?lﬁ@faﬂ'scﬂﬁ

Correct Answer :-

« Babbling/dddAl

10) Pulse Polio programme is started at /Wtﬁﬁiﬁ srf‘mruﬁaﬁ‘maana
Pags A

1. 2 October 1999/2 3/FgaR 1999
2. 10 November 1980/10 Td%R 1980
3.3 January 1998/3 SHal 1998

4.10 April 1997/10 310 1997

Correct Answer :-

« 2 October 1999/2 3{d¢dl 1999

11) Effect of Heredity is:/dRIIIHH &1 YUTT FT gIdT 3:
1. Physical Qualities/IRIR® &l

2. Social Status/JTHING TR

3. Character/aR=

4. All of the above/IWRIad i

Correct Answer :-

« Physical Qualities/IRIR% @&01



12) Gross movement and fine motor skills is related to:/PmTrﬁlﬁf?W‘fH?n q&H
forarere Sz frad w@afta 81d @

1. Motor Development/iEthchOb CEAES

2. Physical Development/mﬁm

3. Social Development/ITHI® fdHT™

4. Emotional Development/@wﬁﬂﬂ

Correct Answer :-

« Motor Development/wm

13) Law of Mendal is related to:/Avsd &1 fAaw frad ddfie 8:
1. Environment/dTdrdrul

2. Heredity/d=IIshH

3. Learning/¥&T

4. Exercise/3¥H

Correct Answer :-

« Heredity/d=IThH

14) Fetus life depends on:/ Ty g Sfia= fAk oear 2-
1. Fallopian tube/aftTe AfernT

2. Placenta/3{Ux1

3. Nervous system/¥ 1 HUS

4. All of the above/IWRigd gHt

Correct Answer :-

o Placenta/3ful

15) Theory of regional learning was given by:/ Idraq &1 &g g foeasd gt
fear mar 3:

1. Kohler/®IgeR
2. PavIov/UTT:lﬂ‘d
3. Lewin/@ﬁ_rr



4. Piaget/fSrareie

Correct Answer :-

. Lewin/dfaq

16) Main AIMS of Viklang punarvas Anusandhan Yojana is:/ﬁﬁlﬁgﬁﬂm
SFEUT TISTHT BT Y= A& T il 3

1. Integrated education/gHfdd e
2. Normal education/wﬁ[&ﬂ

3. Distance Education/UaeTiRaTl fRI&f
4. All of the above/IWRiad Tt

Correct Answer :-

» Integrated education/gHfdd e

17) Stages of speech development is:/HTUT fAP A S e@qw@ @
1. Pre Speech form of communication/tljﬂ'ﬂjw

2. Speech form of communication/drfdd HTST &t ffHcafaaar

3. Both of the above/m'ﬁ?ﬂ:ﬁ

4. Defective Speech/qIogul HTST

Correct Answer :-

« Both of the above/mﬁlﬂiﬁ:ﬁ

18) In Infancy girls child weight is than boy/ AMIRIT H FIFADT BT HR
CIGER: T 8-

1. Less/dH
2. More/SHIql

3. Equal/sRTaR
4. None of these/‘s{‘lﬁ@fﬂﬂ'&fﬂ%’f

Correct Answer :-

e Less/hH

19) Age of Pre-Gang is:/Jd el ®I3Mg___ &



1.3 to 6 Year/3 ¥ 6 IT@
2.2to 5 Year/2 9 5 ITd
3.6 to 10 Year/6 ¥ 10 ITd

4.6 to 12 Year/6 ¥ 12 9Td

Correct Answer :-

. 3to 6 Year/3 ¥ 6 I@

20) Integrated education plan was started in /gwfed e g &t
# ury foear -

1. Year 1981/9% 1981
2. Year 1982/d% 1982
3. Year 1994/a9% 1994

4. Year 2001/9% 2001

Correct Answer :-

. Year 1981/9Y 1981

21) Special educator & school are for children/ fasiw Rianfag aur wpa
ITae & o 8

1. Normal Children/dTHI] dTddh
2. Exceptional Children/fafRre drdd

3. School Children/¥% d dicis
4. None of these/‘s{‘lﬁ@fﬂﬁ'&fﬂ%’f

Correct Answer :-
« Exceptional Children/fafRme sas

22) Which are the basic concept of child development:/ 9Td fasTa & gayd
HYEYg 41 §:

1. Characteristics of Development/ﬁwaﬁﬁ@r@fﬁﬁf

2. Difference between Growth and Development/ﬁWQﬁ?{@ﬁ X
3. Principles of Development/ﬁwiﬁl‘lﬂ

4. All of the above/3IWRIad Tt



Correct Answer :-

« All of the above/IWRIdd Tt

23) Kinder Garten teaching material is:/ f6UsY éT ugfa @) fRueror G 8:
1. Gift/3UgR

2. Mother Play/II'I?jlaFr

3. Song/™d

4. All of the above/IURIdd g

Correct Answer :-

o All of the above/GClﬁTﬁI Tt

24) Period of infancy is:/auITd Ry #t erafy fpa=it g 3:

1. Birth - 2 Week/SHH ¥ 2 g

2. Birth - 6 Week/SH ¥ 6 9«8
3. Birth - 5 Week/SH ¥ 5 98

4. Birth - 8 Week/S<1 ¥ 8 I8

Correct Answer :-

« Birth - 2 Week/S ¥ 2 I8

25) Theories of learningare____ /¥y fig~__ @
1. Theory of trail & Error/Ud-d 3R Yl ol Rigl

2. Insight Theory/Jd &1 AL

3. Imitation Theory/ 30 &1 RIG

4. All of the above/IWRiad gHt

Correct Answer :-

« All of the above/IURIad IH

26) Factor affecting process of learning is: /STa® & HRa4 &1 ufehar & gHIfad
P I I d T 81 &

1. Motivation/lﬁ'Uﬂ

2. Reward/JR¥hRR



3. Praise/U=™T

4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/IURIdd FHt

27) Personality is related to:/ dfaad fead Adfia gan 8:
1. Physical/w

2. Motor/fhaTdH®

3. Persona/tR@ﬂT

4. Emotion/?iaﬂ

Correct Answer :-

« Persona/U3dHI

28) Child welfare schemes are: /WWI‘UT‘@IT:FITQ%:

1. National child board/?Tl%ﬂHW@_s:

2. Integrated child development services/JH~<Id dTd fa® T JaT AT
3. National child policy/ﬂ'ﬂﬁw:ﬂﬁ

4. All of the above/IWRIed T+

Correct Answer :-

« All of the above/IWRIgd I+

29) AIMS of early childhood education is:/qﬁmuﬁﬁ fRrem WB%‘SRT T 2:

1. Development of Interest in Iearning/‘%ﬂ"@ﬁ%tlﬁr T SIRId AT
2. Development of Aesthetic sense/dd §1Y &1 fabT

3. Development of Creativity/ﬁﬂ?ﬁqﬁﬂﬁﬁm

4. All of the above/IuRIeI G+

Correct Answer :-

« All of the above/IWRIgd I+

30) Psycho drama used for the treatment of / AT &1 Ut
_ IuER & ford fpur Siran @:



1. Delinquency/dTd URTY
2. Abnormal Children/3ITHI dlcidh
3. Problem Children/IJHITHD ddDh

4. Mentally Retarded Children/Hdw< gfg aTci®

Correct Answer :-

« Delinquency/dldl SURTY

31) Craft education should be given to:/%ﬁ'&lﬂﬂﬁﬁrﬂ aﬁﬁ\_ﬂ'l:ﬁ
a1fge-

1. Common chiId/WW?ﬁ
2. Backward child/fUss S1ad &1
3. Retarded Child/H< §fS aTc® $1
4. Gifted Child/WeR gfg dTcid BI

Correct Answer :-

« Backward child/fU&s STd® &I

32) Maturation & Growth cycle are determinants of /af¥udadr Td gfs o
& frufve aa @

1. Development/ﬁm
2. Growth/q@

3. Heredity/d=IIIhH
4. Environment/drdrdaul

Correct Answer :-
. Development/ﬁm

33) Out of the following after birth child do various physical activities: /S
uzeTd gy =i o @ a9 f wdifve frart owar g:

1. Heat Regulation/ﬂ]ﬂWﬁlﬁﬂW

2. Develop Immunity Power/RTT UfcRIY® &HdT &1 fam
3. Digestion/dra fear

4. All of the above/3IWRIad Tt



Correct Answer :-

o All of the above/B'CIﬁ?ﬁ Tt

34) Special instructional material is made by: /fafRrse e AT fFd & gRT
IR F Tl 8

1. University Grant commission/fd=afaeTery s AT
2. Integrated Education in India/HRd H GHfHd e

3. UNICEF/gd%
4. All of the above/IWiad G

Correct Answer :-

« Integrated Education in India/MRd # THfdd e

35) 10 days Infant is called as:/10 ﬁ'ﬂ%fﬂ?{[aﬁﬁa%
1. Child/fRrg
2. Neonate/=aviTd fRIg]

3. Abnormal Child/3{{THTY dl¢id

4. None of these/‘e?lﬁ@faﬂ's;ﬂﬁ

Correct Answer :-
« Neonate/duId QISZ

36) Is XY Chromosome are sex determination?/ &1 XY HIHNH foit fefzor wa

2
1. Right/Tg!
2. Wrong/TTdd

3. Partially Wrong/ 3fifRr TTeid
4. None of these/‘a’ﬂﬁ@faﬁé:ﬁﬂ'

Correct Answer :-

« Right/¥a!

37) Problem child is /O 9P &

1. Who steals/Ehff HI grell



2. Who is lie/[@ dia arar
3. Who disobey parents/dTdl fUdl &1 &gA1 9 A1

4. All of the above/GClﬁTﬁI Tt

Correct Answer :-

« All of the above/3JuRlad G

38) Characteristic of development is g Hfauard @dftg
1. Directional/f&=TaTs

2. Progressive Series of change/mﬁm

3. Orderly /s HdG

4. All of the above/IWiad G

Correct Answer :-

« All of the above/maﬂ Tt

39) Hyperactivity & Disorder of attention is characteristics of which special

children:/ Sifafsrar=itedr 9T Sr@e @1 sRd-saxaar foa fafkre arae @t faiar @:
1. Learning Disabled/&f‘ﬂﬂﬂﬁﬂ"q

2. Backward Child/fU&d aTeid

3. Gifted Child/UfdHTaT dTed

4. Delinquents/dTd SORTeR

Correct Answer :-

« Learning Disabled/&if‘ﬂ?'lﬂﬁﬂ'fq

40) Who is founder of pre-school education?/ Jd Xmad fR1em & S=agrar &9 A2
1. Mother Teresa/WaﬂT

2. MC Millian Sister/He e S

3. Gandhi ji/Tie STt

4. Bandura/sgX

Correct Answer :-

« MC Millian Sister/3b ¥ S84



41) Special facilities for orphan children is:/3F1¥ g & gq faiv gfaurd Fam g
&

1. Pre-School Programme/tlﬁ-@_c*rm
2. Reading Improvement Programme/Ud- ﬁ%ﬂ?@l\_ﬂ:ﬂ
3. Comprehensive Programme/ECﬂWZﬁTrFlT

4. All of the above/IWRIad gt

Correct Answer :-

« All of the above/IWRIgd I+

42) Life vitality of child come in which month:/ R ! sfia= erar fea ae &
Gﬂ?ﬁ%:

1. 7 Months/7 HIg
2. 5 Months/5 HIg
3. 6 Months/6 HIg

4. 4 Months/4 Hlg

Correct Answer :-

e« 7 Months/7 Hig

43) Which are the basic principles of special education: /fa=Iv fR1&m & gaya

Rsa a3 &

1. Tutoring in functional skills/WWWﬂﬁf&l’m

2. Emphasis on individualized Instruction/sdfdTd 3¢ R §d

3. Emphasis on awakening of the child senses/dTa®! & JdGAT3l Bl ST HA WR

4. All of the above/IWRIad gt

Correct Answer :-

« All of the above/IWRIgd IH

44) Age of Neonate is:/=auiTd I 1 3 fora-t gl &:
1. 10 Days/10 f&a

2. 20 Days/20 fea

3. 35 Days/35 fad



4. 45 Days/45 faA

Correct Answer :-

« 10 Days/10 fad

45) Characteristics of creativity is:/m?ﬁw ﬁ‘\ﬁwﬁiﬁ?ﬁ T
1. Process/m

2. Goal Directed/d&d SR
3. Create/Jqiq
4. All of the above/IWRIad Tt

Correct Answer :-

« All of the above/IWRIad I+



